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20228 = =4 2 & bt EFI|E
YR ESIEE
Hu: JZRM BE Y W2
e 2280 JIE2 22 (2 &HH)
S -G (FH) - NRAY - BES Ol &F o o= o HDE2
HFIER 707,124 670,439 36,685
IEgM B Y MS 677,700 651,185 26,515
SEX0 JIEZ 22 677,700 651,185 26,515
INEH 249 655,700 629, 185 26,515
101 @121 ] 78,687 77,372 1,315
02 JIEtE 2 % 8,458 7,143 1,315
OIM 2= 8,458 7,143 1,315
OXZW2LES(SHAILIIHTS)
10,952& * 1% = 30AI2F = 4& 1,315 0 1,315
201 gBt2Ay| 262,953 258,753 4,200
01 AFR 2t 2| H| 157,886 168,686 A 10,800
OJIZ2ME M2l o0& 0 4,900 A4 900
OAlCIDI=2 2ctE0] =X} g2t o0& 0 10,500 A 10,500
oA JIE 2248 = M 4,600 0 4,600
OteExmA &5 14,000 = 100 = 10A 1,400 0 1,400
OAZ HICO2HIOlZ DM E & HE 3,200 0 3,200
-VHS OH &I B &t 10,0009 = 20H 200 0 200
Eoa % HE L e
150,000 * 20A 3,000 0 3,000
03 A2 HH| 28,470 13,470 15,000
OB ZFAl AQ HADIEED 29 15,000 0 15,000
O A& 350,000 = 103l 3,500 0 3,500
od1n= 12,0008 » 60%H 720 0 720
OFFI=SHNBE M
25,000& = 2008 5,000 0 5,000
OZozd U g2 500,000 = 103l 5,000 0 5,000
O&EHel & oIAfH| 3,000& = 103 30 0 30
Os=2=Hz 750,000 *« 13| 750 0 750
207 I & 241,000 220,000 21,000
02 & AHJH EHH| 21,000 0 21,000
OFFII=EA EHOXN 2= 21,000,000 21,000 0 21,000
HESAAH(EFIIEH) 29,424 19,254 10,170
ol 2 A Y| 10,170 0 10,170
ol =AY 10,170 0 10,170
101 Q124 H] 9,851 0 9,851
01 B 5,701 0 5,701
(OFIRIES 5,701 0 5,701
SR EE PN
11,876& * 43 » 30AI2t = 48 5,701 0 5,701
03 222 (RIHY) 2222 4,150 0 4,150
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